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int pinLX = AQ;
int pinLY = AL
int pinRX = A2;

int pinRY = A3;

int valLX, posLX;

int vallY, posLY;

int valRX, posRX;

int valRY, posRY;

void setup()

Serial.begin(9600);

void loop()



valLX = analogRead(pinLX);
valLY = analogRead(pinLY);
valRX = analogRead(pinRX);

valRY = analogRead(pinRY);

posLX = map(vallLX, 0, 923, 3,-3);
posLY = map(vally, 0, 1023, 3,-3);
posRX = map(valRX, 0, 1023, 3,-3);

posRY = map(valRY, 0, 923, 3,-3);

Serial.print(posLX);
Serial.print(",");
Serial.print(posLY);
Serial.print(",");
Serial.print(posRX);
Serial.print(",");
Serial.println(posRY);
delay(100);

Serial.println("n");
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#include <Servo.h>

Servo servoM1,servoM2,servoM3,servoM4;
int posM1,posM2,posM3,posM4;
int valLX, posLX, pasLX;

int vallY, posLY, pasLY;

int valRX, posRX, pasRX;

int valRY, posRY, pasRY;

int P;

void setup() {

servoM1.attach(2);
servoM2.attach(3);
servoM3.attach(4);
servoM4.attach(5);

servoM1.write(30);



servoM2.write(30);
servoM3.write(30);
servoM4.write(30);
delay(1500);
servoM1.write(360);
servoM2.write(360);
servoM3.write(360);
servoM3.write(360);
Serial.begin(9600);

Seriall.begin(9600);

void loop() {

P = (posM1+posM2+posM3+posM4)/4;
Serial.printIn(P);

servoM1l.write(posM1);
servoM2.write(posM?2);
servoM3.write(posM3);
servoM4.write(posM4);

while(Seriall.available()>0);



valLX = Seriall.parselnt();
valLY = Seriall.parselnt();
valRX = Seriall.parselnt();

valRY = Seriall.parselnt();

posM1 = posM1 + valLX;
posM2 = posM2 + valLX;
posM3 = posM3 + valLX;
posM4 = posM4 + valLX;
if(valRX > 0){

posM3 = posM3 + valRX;
posM4 = posM4 + valRX;

posRX = posRX + valRX;

if(valRX < 0){
posM1 = posM1 - valRX;
posM2 = posM2 - valRX;

pasRX = pasRX - valRX;
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if(valRX == 0){

posM3 = posM3 - posRX;
posM4 = posM4 - posRX;
posRX = 0;

posM1 = posM1 - pasRX;
posM2 = posM2 - pasRX;

pasRX = 0;

if(valRY > 0){
posM1 = posM1 + valRY;
posM3 = posM3 + valRY;

posRY = posRY + valRY;

if(valRY < 0){
posM2 = posM2 - valRY;
posM4 = posM4 - valRY;

pasRY = pasRY - valRY;
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if(valRY == 0){

posM1 = posM1 - posRY,;
posM3 = posM3 - posRY,;
posRY = 0;

posM2 = posM2 - pasRY;
posM4 = posM4 - pasRY;

pasRY = 0;

if(valLY > 0){
posM2 = posM2 + vally;
posM3 = posM3 + vally;

posLY = posLY + vally;

if(valLY < 0){
posM1 = posM1 - vally;
posM4 = posM4 - vally;

pasLY = paslLY - vally;

if(vallY == 0){
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posM2 = posM2 - posLY;
posM3 = posM3 - posLY;
posLY = 0;

posM1 = posM1 - pasly;
posM4 = posM4 - paslY;
pasLY = 0;

}

if(posM1<30){
posM1=30;

}

if(posM2<30){
posM2=30;

}

if(posM3 <30){
posM3=30;

}

if(posM4 <30){
posM4=30;

}
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if(posM1>360){
posM1=360;

}
if(posM2>360){
posM2=360;

}
if(posM3>360){
posM3=360;

}
if(posM4>360){
posM4=360;

}

if(Seriall.read()=="n"){}

APC220(#0 ~ &l
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